: ’ Cleveland Equipment

SB-EX

Standard & Stainless

Side Belt Industrial Case Taper

Operation Manual

866-888-6327
sales@clevelandequipment.com

4403 Delp Street
Memphis, TN 38118
www.clevelandequipment.com



mailto:sales@clevelandequipment.com
http://www.clevelandequipment.com/

4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Contents
R | N 3
1311 1o 1o N 4
GENEralSYStEMDESCIIPLION ... 4
SPECICALIONS ..o 5
(@] 1110 3 U PPP R UPPPRPIR 5
DIMNENSIONS . ... s 5
13 7= 1110 o N 7
(oo 140 0l a=o (011! 001=) |1 U 8
INSEAlIFFONtANAREAITADIES .....eeeieeeeiiieteee et e e e e st e e e e e e s s bbbttt e e eeessssaasbbbeeeeeesessannssbaaaaeaaeeanns 9
o ) =] o T OO TP OPUPT R PPPUPPEN 9
OPEIALION...ceuuiiineieieniiiianierenitiasierensietssseressserssseressiesssserssssssessessssssssssssessssssssssesssessssssssssssssssssnssssenssssnssessnssssnnse 10
LOadINGthETAPECAMITZES ... . vvuueiinei e et e aa e e aaaaaaseaassassssassasssnssssssssssssnsssnssnnnssnsssnnsnnnsnnnnnnnnn 10
(61T g =10 o o FO ST TP PP PPPPPTRRRPPP 11
L8 =T 0 LI 1 11
EQSLeY-EXTAPE HEAU.........cccuuueeeeeeneiieeiriiieeeiiiiienessesssenssissssnsssossessssssssssmsssssssssssssssnssssssssnsssssssssssassssnssssnanns 12
EZ-EXTAPE HEA ......ceeeeeeeeeerciieeiincciieiiiiiisneeisissssnsssessssnsssssssssssossssnssssssssssssssssssssssssnsssassssnsssssssnssssssssnssssnanns 12
Y TN o 0= S TSP PP UUPPPPPTPPR 13
POV ...ttt ettt e e et ettt e e e e e e ettt e e e e e e e ettt ae b e e e e et e et et a e e eeee et teean e eeeeeeteanneeeeeeetennnnanes 14
(@011 (o)1 T PO PPPPT PP 14
ENIEIZENCYSTOP. . ettt ettt et ettt ettt e e et e e et ettt e e e e e ettt et e et eeetetaba e eeee et e et an e eeeeeetebnneeeeeeeternraanes 15
AJUSTMENTS...cevvueiiiiiiiiiiiitiniiiiiiiiireeseeesiittttreessssessssssssssreessssssssssssstreessssssssssssssssssssssssssssssssssesssssssssssssssssnnnnns 16
CartonHeightandWidth AGIUSEMENTS. ...t e e e e e s s s b e e e e e eeeessssbbaeeaeeeeesssnansseeees 16
Side Belt Width AQJUSEMENT............ccovvvveeeeeeneiiiiiiniiinnrenniiiiisiiinisssssisiisssmsssssssssssssssssmsssssssssssssssssssssssssssssssses 16
Upper Tape Head Height AJUSEMENT ...........cccvveeeeeuueeciiiiiiiinnnenniiiiisiiinissssmssssssssssmmsssmssssssssssssssssssssssssssssssssns 16
TOP SQUEEZEI AQJUSEMENTE ........ceeeeeciiiieieeiiiiiiisiiiiiinnniisiiiisisnnsisssssssissssssssssssssssssssssssssssssssssssssssssssssssssssssssssns 17
2T/ (U 0T | PP PUPPPPPP 18
MachineBodyHEIBHEAGIUSTMENT ... ..veiieiiee e e e e e e e e e e e s s a e e eeeeesessasbtaeeeeaeesessssnsnnneeaaaeens 18
YT 1= 7= T = 20
20T TP PUPPPPPPP 20
CULEINGKNIVES ...ttt ettt e e et e e et ettt e e e e e et ettt ta e e e e eeeeteaa s s e e eeeeteee s b aeeaeeeeeensana e eeeesanennnaaseneans 20
TrOUDIEShOOHNG ....ciiiiieiinuniiiiiiiiiiiiiiniiiiiiitiiresneeiiiiettireresssssssessettreessssssssssssstnressssssssssssssssssssnsssssssssssssssnnnsssssss 21
3 T 1 23
2T i o | P UPPUP T PPPPPP 23
Ny To (212 7Tl ol o) TP PPPP PP 27
SidEBEHASSEMDIY(STAINIESS) ... vvveeeeeeeeeeeeiite et e e e et e e e e e e e e e e e e e e e e e e ataaeeeeeeeseeaaasasaeeeaeeeeaannasaaaeaaeeeeaannnreaees 30
AVl @0 11T o IO PP SPPPPPPPPPRN 32
VertiCalCOIUMN(SEAINIESS) ......eeeeeiiiieeeee e e e eeecce ettt e e e e e et e e e e e e e e ettt e e e eeeeeeeeeaaasaaeeeeaeeeeaasssssasaaaaeeeeaasssssneeaaeseannnes 35
1= To g 110 1= 2 oo VPR PP 37
MAChINEBOOY(SLAINIESS) ... v vvveeeeeeeeetittee et e e e e e et e e e e e e sttt e e e e e eeeesssaabaaeeeeeeeeessssaaaeeeaaeeesessssssaneeeaeseessnnssnnneaaaeens 39




4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Safety

Before installing, operating or servicing this equipment, please read the following
precautions carefully:

e This machine is equipped with moving belts. Do not place hands near the rear of this unit when
the belts are moving as fingers may be pinched where belts enter the frame. We suggest
the use of a roller-type exit conveyor or pack table for your cases. Always remove boxes
after they clear the exit end of the machine.

e Observe caution when near the tape applying cartridges or when threading tape. The knife
Is very sharp, automatically operated and is linked to the wipe down rollers.

e Do not attempt to open or work on the electrical box, junction boxes or other electrical
components of the unit without first disconnecting power to the machine. Electrical shock
hazard exists if power is not disconnected.

e Do not by-pass any factory-designed safety features such as knife guards, interlocks,
switches, etc.

e Do not place hands or body inside the confines of the machine unless the head mechanism
Is securely fastened, and the electrical supply is shut off.

e Never provide service or clear a box jam when machine is running.

e When feeding a box into the unit, always hold down the box top and present the box to unit.
Release hands as soon as the belts begin to take the box.

¢ Do not wear loose clothing such as ties, scarves, jewelry etc. Long hair should be pulled back
and/or covered while operating this machine.

Page 3



SB-EX Side Belt Industrial Case Taper Operation Manual

Introduction

Adjustment

Height
Crank

Upper
Tape
Head

i

Vertical
Column

Top

General System Description

Squeezer

Adjustable

Leg

Page 4

Adjustment

Width
Crank

¢



SB-EX Side Belt Industrial Case Taper Operation Manual

Specifications
Model SB-2/3EX Standard
Tape 1.5 inches (3.6 cm) or 2 inches (5 cm),
up to 15 inches (36 cm) diameter rolls
Belt speed 75.5 feet/min. (23 m/min.)
(L) 4.7 inches (12 cm) to unlimited
Capacity (W) 3.9 inches to 19.5 inches (10 cm to 50 cm)

(H) 4.7 inches to 19.5 inches (12 cm to 50 cm)

Power Consumption

450W

Machine size

(L) 68 inches (173 cm)

(W) 33.6inches (85 cm)
(H) 63.1 inches (160 cm) w/o tape head
(H) 70 inches (178 cm with max. tape roll

Machine net weight

353lbs (160kg)

Options
® Stainless Steel

® 3" tape head

Dimensions

Dimensions are shown in inches.

Page 5



4
SB-EX Side Belt Industrial Case Taper Operation Manual ¥y

— 0 I A
L] P
3346 in
O 2480 in
o SN
] )
[T 0 1 y
[—15 75 In —= BMin———»«—1575 In—
-~ 67.44 in- -
PN i
i F{ .rd& f )
| =
\ ] [/
| | \ l _—
11 . s
IJ_L —=T1r .
.—-—'—"_"_'_'_'_-‘ \I\
I O J
B4 in. 70in.
max.
63.1in.
248 in_\ L o | /7

Li( {i;%]_ \‘\ ! 32?38 in:

= ¥

- - 5.5 in.

Page 6



SB-EX Side Belt Industrial Case Taper Operation Manual "y

Installation

Carefully unpack the case taper from the shipping carton.

Remove the shipping bolts that secure the Case Taper to the shipping pallet. Lift the Case Taper
of the pallet.

CAUTION! The SB-2/3EX Standard Case Taper is very heavy and will require a
forklift, floor crane, or several people to move safely off the shipping
pallet. Use proper equipment when lifting the case taper and ensure
the case taper is secure and will not shift while being moved or during
height adjustment or installation of optional locking casters.

Install the four (4) casters on the Case Taper legs. The casters are very easy to install simply
screw into the threaded holes on the bottom of each leg.

To adjust the leg height, loosen the screws on each leg and slide the insert up or down. When the
leg is at the desired height, retighten the adjustment screws to secure the leg height.

@—ﬂgﬁment Screws

Brake

CAUTION! The case taper must be lifted off the floor to install the casters. Use
proper equipment when lifting or moving the case taper. Ensure the
case taper is secure and will not shift while installing the casters or

adjusting leg height.

Page 7



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

The locking casters allow the taper to be moved easily over a smooth flat surface. If the unit must
be lifted to move it to the desired location you will need to use a pallet jack, floor crane, or fork lift
to lift it.

Location Requirements

When installing the SB-2/3EX Standard Case Taper please be aware of the following
considerations:

1. The mounting surface is flat and level.
2. Conveyor or packing table height.
3. Alignment with packaging line.

When the SB 2/3-EX Standard Case Taper is positioned in the operating location you will need
access to:

1. The power switch.

2. Height and width adjustments.

3. Tape loading (Both upper and lower tape cartridges).
Roller tables are provided standard at both the in-feed and exit ends of the case taper. A packer
can fill boxes and close the flaps at the in-feed roller table before feeding boxes into the case

taper, and then pick up boxes that have been sealed from the exit roller table.

If the case taper is part of a longer packaging line, take into consideration the table and conveyor
height in relation to adjacent machinery.

It is essential that the table and conveyor be at the machine bed height.

The machine should be placed on a flat, level floor so that it does not rock or move. We recommend
that the machine be securely locked in place when used.

Page 8



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Install Front and Rear Tables

Front and rear tables are identical and therefore interchangeable. Temporarily loosen socket
head cap screws at the locations shown in the following illustration. Align the keyhole slots in
the table flanges with the loosened cap screw heads and position the end table so rollers are
level with rollers in the case taper body, then re-tighten cap screws to secure table. Install one
table at each end (front and rear) of the case taper body.

Socket Head
Cap Screws

ocket Head Cap Screws

Next Steps

Follow instructions in the Operation section for instructions to load the tape cartridges in the upper
and lower tape heads.

If tape heads have not been loaded with tape, load the upper and lower tape heads with tape.
(One roll each; follow instructions provided in the Tape Cartridge User Guide.)

Refer to the Adjustments section for instructions to make necessary height and width
adjustments that must be made for operation of the box taper.

Refer to the Operation section for instructions to power up, operate, and shut down the machine.

Page 9



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Operation

Loading the Tape Cartridges

Turn the main power switch to “Off” and disconnect the power.

CAUTION! To avoid personnel injury, remove the tape cartridge before loading
tape.

When handling the tape cartridge be careful to avoid contact with the
tape cutting blade.

After the taping cartridge has been removed push the tape roll onto the tape core assembly.

NOTE: Make sure the tape roll is pushed all the way on the spindle
assembly.

Spindle Tape Roll

Tape Core

Page 10



4
SB-EX Side Belt Industrial Case Taper Operation Manual *y

Check Tension

Check the tape for correct
tension. Tighten or loosen the
tape core holder to adjust
tension.

Thread Tape

Carefully thread the new tape through the rollers in the tape head as shown in the
applicable diagram in the Tape Head User Guide provided with the tape head.

For convenience, diagrams for threading tape in the Eastey-EX Tape Head and EZ-EX Tape Head

are provided on the following page. Follow the diagram that applies for your tape head,
depending on the tape head model and position on the taper.

Page 11



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Eastey-EX Tape Head

Bottom Cartridge Upper Cartridge

EZ-EX Tape Head

Bottom Cartridge Upper Cartridge
Page 12



4
SB-EX Side Belt Industrial Case Taper Operation Manual *y

Center Tape — Eastey-EX Tape Head only

Make sure the tape is centered on all the
rollers.

There are several rollers in the tape cartridge
where the tape alignment should be checked
to verify the tape stays on center as it is
being dispensed.

Return the tape cartridge to the operation
position.

Main Spring
For sealing light weight boxes, decrease the main spring
tension. For heavier boxes, increase the main spring
tension.

Main Spring o When setting tension for the rollers, consider the amount

O D of pressure on the box flaps required to make the seal.
\ . . S Cartons completely filled to the top with product may

require more pressure on top and bottom seams when
applying tape than partially-filled cartons, where excessive
pressure could possibly crush the carton.

Page 13



SB-EX Side Belt Industrial Case Taper Operation Manual L

Power

Plug the power supply cord into a properly wired and grounded outlet. Press start

button.

CAUTION! When the power is turned on be aware of moving parts and belts

Control Panel

When the main power switch is in the “ON” position the power lamp should be
illuminated.

=
—
IS
e
e /
RS
IR
o

CARTON SEALER

O R ONON

Power N
Indicator Stop (Red)
(White) @ @

Start / Run

(Green)

Stop Button (Red)

Press to stop motors and belts.
Start / Run Button (Green)
Press to start motors and belts.
Power Indicator Lamp (White)

On when carton sealer is in operation.
Off when carton sealer is not in operation.

Page 14



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Emergency Stop

Emergency
Stop Button
(Red)

Emergency Stop Button (Red)
Press the button for emergency stop.
To reset the Emergency Stop button once the emergency condition has
been cleared and it is safe to operate the machine again, press the

Emergency Stop button in while turning it approximately a quarter-turn in
the direction of arrows.

Page 15



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Adjustments

Carton Height and Width Adjustments

With the power off, place an appropriate size box filled with product in the Case Sealer. Position
the box centered with the rollers, drive belts, and tape heads. Use the filled box to adjust the width
of the side belts and squeezers, and height of the top tape head.

Side Belt Width Adjustment

Use the drive belt width adjustment crank to set the drive belt to the correct width for the box.

e

/ 2
@,
Set Screw \ \
0
0 Drivé Belt Width Adjustment

/
// Crank

—_

The side belt width adjustment crank can be mounted on either side of the machine by loosening
the set screw, removing the crank, and mounting the crank on the opposite side of the machine.
Re-tighten the set screw to secure the adjustment crank.

Upper Tape Head Height Adjustment

Use the height adjustment crank to set the upper tape head to the correct height for the box.

Page 16



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

- '\Hai.ghtAdjustment Crank for

Upper Tape Head

Set Screw

The height adjustment crank can be mounted on either side of the machine by loosening the set
screw, removing the crank, and mounting the crank onto the adjustment spindle on the opposite
side of the machine. Re -tighten the set screw to secure the adjustment crank.

Top Squeezer Adjustment

Loosen the locking knobs on the top squeezer alignment rollers to set the top width to the correct
box width and re-tighten the locking knobs. This will insure the box stays centered.

Hand Knob

Page 17



SB-EX Side Belt Industrial Case Taper Operation Manual

Belt Adjustment

You do not have to remove the drive belt cover to adjust the drive belt. To adjust the belt, use
an Allen wrench and loosen the belt nut. Adjust the belt to a suitable tension by turning the adjustment

screw with a Philips screwdriver. Re-tighten the belt nut.

Allen Wrench

Phillips Screwdriver

Machine Body Height Adjustment

To adjust the leg height, loosen the screws on each leg and slide the insert up or down. When the
leg is at the desired height, retighten the adjustment screws to secure the leg height.

Adjustment Screws

CAUTION! Ensure the case_tapér is secure and will not shift while adjusting

leg height.

Page 18



4
SB-EX Side Belt Industrial Case Taper Operation Manual *y

Tape Head Adjustment — Refer to Tape Head User Guide.

Refer to instructions in the Tape Head User Guide that is provided with the tape head for
instructions regarding adjustment information for the tape head.

Page 19



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Maintenance

The SB-2/3EX Standard Industrial Case Taping System will provide many hours of maintenance
free operation. There are a few items that may require attention from time to time.

Rollers

Make sure rollers stay clean and grease free. If you should have to clean the rollers simply wipe
them down with a clean lint free cloth. If a more thorough cleaning is necessary wipe the
rollers down with a mild detergent and water and let dry. Never use harsh or abrasive cleaners
or chemical agents when cleaning the rollers.

Cutting Knives

Occasionally inspect the cutting knives to ensure they are clean and free of adhesive residue.
Make sure the cutting knife is sharp by inspecting cuts in the tape. Cuts should be straight and neat.
If the quality of cuts is eroding, the knife blade is dull and should be replaced.

Changing Knife Blades — Refer to Tape Head User Guide

Turn off and unplug the taper. It is not necessary to remove either tape head to change the blade.
Refer to the Tape Head User Guide provided with the tape head for instructions for changing the
knife blades.

CAUTION! Always be aware of the cutting edges while replacing the knife
blades. Handle the knife blades carefully.

Page 20



4
SB-EX Side Belt Industrial Case Taper Operation Manual "y

Troubleshooting

Problem

Solution

Taper will not start

e Check power input.

e Release the Emergency Stop
button.

e Press the Start button to releaseQy
overload.

e Replace Fuse. (Access fuse by
removing plug from underside of
control box as shown at right.) é

Machine is not operating

e Machine has inadequate electrical power or power is
not connected. Verify system power meets
specification requirements.

e An Emergency Stop condition exists. Clear the
machine and reset the Emergency Stop.

Stuck carton

e Check drive belt width adjustment.
e Check for proper height adjustment.

Uneven or poor tape cuts

e Adjust knife arm spring tension.
e Adjust wipe roller spring tension.
e Replace cutting knives.

Uneven Tape Leg on Front

e Tape tension is too low. Tighten the one-way
clutch roller and/or the tape core.

e Adjust the one-way clutch roller in the slot so it is
slightly beyond the front wipe roller.

e Adjust the tape leg length. See Tape Leg
Adjustment section.

Page 21




4
SB-EX Side Belt Industrial Case Taper Operation Manual ¥y

Problem

Solution

Uneven or Torn Tape

P

Blade is dull. Replace blade.

Tape tension is incorrect. Increase tension.
Clean and adjust blade.

Blade mounted incorrectly or backwards.

Knife arm spring is worn. Replace knife arm
spring.

Adjust cartridge height.

Tape Folding

v

Check that all rollers turn freely.

Check to be sure tape is threaded properly on
front roller (page 17).

Check wipe down brush.

Tape Curling and Bunching Up
— Eastey EX Tape Head Only

&

Eastey-EX Tape Head Only

Adjust the tape cartridge height (approximately
.06 inches from box)

-

Check tape tension set by the spring tension at
the tape core.

Page 22




SB-EX Side Belt Industrial Case Taper Operation Manual

Parts List

A4 4N NAN

/)
4 /
=

017
Q r/.\v
\ Ly
ﬁﬁ AN 4

- NTITIT, /e o
L}

O

Electrical

Page 23



SB-EX Side Belt Industrial Case Taper Operation Manual

1 J0 T IDVd|

82/90V/8002:ALVA | V-10—dSE0T—IXH:ITId

ISE0T DX “THAON

LAOOAVT TVIIHLOMTH

kﬁ 3078 40 Smw 1

v 3600101

4

NMOHd d0 MOvd @lﬂuﬂ

g
g
2]
B

wﬁﬁ

NTIYO/3INT8/NMoYE © ¥O100
OC«WWG/'0  INIT HOLON

o O O

NIIHO/3INTG/NMOYE & ¥O100
DCxWWG/ 0 ¢ AN HOLOW

O

O+ WWGZ |
ZH03/0S AOZC
7ZH09/0G AOLL ¥3

EINN

MOd

NIIHO/INTG/NMO¥E © 010D
JCWWG O INIT 9N

Electrical Layout

Page 24



SB-EX Side Belt Industrial Case Taper Operation Manual

W' A

diF+ ISeHd—1 ADTEOW

dHet IS¥Hd -1 ADEEH

(LI HINLY
. & = o
o
| — HOLIW LHI @ ® e Sl EEN
~] bR ! r.,...,.....,.}.r
o %mm | | F I N L TRl R (T A o
{ L ... THUKISE i) =39, 011,001
éﬂzﬂﬁﬁm_ . LI HOUITH D
i w ..... {) o ® xmw ® @
L4
drd 'L 135 (ZHIE)TonI0R
o OB | e el
! r | i
o c L L Lo ¥ty £ 135 ZHWI0E
] I /%a 5 95 ML
! ! drie 4 135 Zend0L
o () M BN R 01 H340
. TR
sg[ 1 Lok < L m .
H--:..E-I- @ 015 “r--.---lr--l.l“ HOLTAMCY d300W
o
@ ] @ |@ @ v T
ZH 08,05
N 3 HAIMOod
ﬁ _L 1] L= Hd 1
— {247 94, 02,022,002
i 3and o (o O1LAD0L)

Electrical Layout Cont.

Page 25



SB-EX Side Belt Industrial Case Taper Operation Manual

KEY PART NO. DESCRIPTION QTY
NO
1 7155BC20 EMG. SWITCH 1
7158BZ712 BUTTON SEAT CONTACTOR NCx1 1
2 7066P001 1/2" CONNECTOR 1
3 7065C062 1/2" PROTECT TUBE 1
4 7066C064-1 1/2” 90° CONNECTOR 1
11 70560601 TERMINAL BLOCKS TB6P 1
12 7032SW01 CONNECTOR 1
13 71570002-01 BREAKER LC1-D09F7 110V 1
71570003-01 BREAKER LC1-DO9M7 220V 1
71570002-02 OVERLOAD PROTECTOR LR3-D106(4-6A)(110V) | 1
14 71570003-02 OVERLOAD PROTECTOR LR3-D086(2.5- | 1
4A)(220V)
15 7155AL01 BUTTON 1
16 7155AA03 BUTTON 1
7158AZ01 CONTACTOR NOX1 1
7151AV01 POWER LAMP 220V 1
7150AV01 BLANKIG PLUG 1
17
7151AV02 POWER LAMP 110V 1
7150AV01 BLANKIG PLUG 1
18 7025AG16 FIXED SEAT 4
10 72561003 FUSE FUSE 1
7250FHO1 SEAT 1
20 7155AL01-1 ENCLOSURE 1

Page 26




SB-EX Side Belt Industrial Case Taper Operation Manual

Side Belt Assembly

Page 27



SB-EX Side Belt Industrial Case Taper Operation Manual

KEY PART NO. DESCRIPTION QTY
NO
1 CA3006L0 SIDE BELT COVER 1
2 10170610 SCREW M6*10L & SW & W 4
3 CA3010L0 GUIDE PLATE 1
4 10100870 SCREW M8*70L & W 2
5 CA302700 BELT 2
6 CA30250A MOTOR SHAFT 2
7 CA301900 PULLEY DRIVER 2
8 CA301700 SPEDIAL SCREW 4
9 10925300 KEY 5*5 2
10 CA301600 SUPPORT SHAFT 4
11 11301200 RING STW-12 16
12 CA301400 PULLEY SHAFT 16
13 CA301300 PLASTIC PULLEY 16
14 30300030 BEARING 600327 4
15 CA301100 PULLEY FOLLOWER 2
16 CA301200 PULLEY SHAFT 2
17 CA3005L0 SUPPORT COLUMN 1
18 10130545 SCREW M5*45L 2
19 CA301800 ADJUSTMLNT BLOCK 2
20 CA3006R0 SIDE BELT COVER 1
21 CA3010R0 GUIDE PLATE 1
22 10100612 SCREW M6*12L & SW & W 8
23 CA3005R0 SUPPORT COLUMN 1
24 CA302900 MOTOR SEAT 2
25 30300030 BEARING 600322 2
26 CA303000 UNIVERSAL JOINT 2
27 745111R1 MOTOR 110V/60HZ,T18:1 1
745122R1 MOTOR 220V/60HZ,T18:1 1
745122R2 MOTOR 220V/50HZ,T15:1 1
745124R2 MOTOR 240V/50HZ,T15:1 1
745138R1 MOTOR 380V/50HZ,T15:1 1
745140R1 MOTOR 400V/50HZ,T15:1 1
28 CA302000 SHAFT SEAT 4

Page 28




SB-EX Side Belt Industrial Case Taper Operation Manual

29 CA302200 CHAIN SPPOCKET 2
30 32405355 CHAIN 1
31 CA300700 SPINDLE WIDTH ADJUSTMENT 1
32 10100612 SCREW M6*12L & SW & W 8
33 CA300900 SHAFT 1
34 CA303200 HANDLE RING 2
35 CA201500 HANDLE CRANKK ARM 1
36 10100620 SCREW M6*20L & S.W & W 1
37 CA300800 SPINDLE WIDTH ADJUSTMENT 1
38 30302031 BEARING 620322 2
39 CA3015R0 SPINDLE SUPPORT 2
40 CA3015L0 SPINDLE SUPPORT 2
41 74511111 MOTOR 110V/60HZ,T18:1 1

74512211 MOTOR 220V/60HZ,T18:1 1

74512212 MOTOR 220V/50HZ, T15:1 1

74512412 MOTOR 240V/50HZ,T15:1 1

74513811 MOTOR 380V/50HZ,T15:1 1

745140L1 MOTOR 400V/50HZ, T15:1 1

Page 29




SB-EX Side Belt Industrial Case Taper Operation Manual

Side Belt Assembly (Stainless)

KEY NO PART NO. DESCRIPTION QTY
1 KA111138L0O-S SIDE BELT COVER 1
2 10170610S SCREW M6*10L & SW & W 4
3 CA3010L0 GUIDE PLATE 1
4 10100870S SCREW M8*70L & W 2
5 CA302700 BELT 2
6 CA30250A-S MOTOR SHAFT 2
7 CA301900 PULLEY DRIVER 2
8 CA301700-S SPEDIAL SCREW 4
9 10925300 KEY 5*5 2
10 CA301600-S SUPPORT SHAFT 4
11 11301200S RING STW-12 16
12 CA301400-S PULLEY SHAFT 16
13 CA301300 PLASTIC PULLEY 16
14 30300030-S BEARING 600322 4
15 CA301100 PULLEY FOLLOWER 2
16 CA301200-S PULLEY SHAFT 2
17 CA3005L0-S SUPPORT COLUMN 1
18 10130545S SCREW M5*45L 2
19 CA301800-S ADJUSTMLNT BLOCK 2

20 KA111138R0-S SIDE BELT COVER 1
21 CA3010R0 GUIDE PLATE 1
22 10100612S SCREW M6*12L & SW & W 8
23 CA3005R0-S SUPPORT COLUMN 1
24 CA302900-S MOTOR SEAT 2
25 30300030-S BEARING 600327 2
26 CA303000 UNIVERSAL JOINT 2

Page 30




SB-EX Side Belt Industrial Case Taper Operation Manual

27 745111R4 MOTOR 110V/60HZ,T18:1 1
745122R4 MOTOR 220V/50HZ,T15:1 1
745124R3 MOTOR 240V/50HZ,T15:1 1
745138R3 MOTOR 380V/50HZ,T15:1 1
745140R3 MOTOR 400V/50HZ,T15:1 1

28 CA302000-S SHAFT SEAT 4

29 CA3022S0 CHAIN SPPOCKET 2

30 3240S355-S CHAIN 1

31 CA300700-S SPINDLEWIDTH ADJUSTMENT 1

33 CA300900-S SHAFT 1

34 CA303200 HANDLE RING 2

35 CA201500 HANDLE CRANK ARM 1

36 10100620S SCREW M6*20L & SW & W 1

37 CA300800-S SPINDLEWIDTH ADJUSTMENT 1

38 30302031-S BEARING 62037227 2

39 CA3015R0-S SPINDLE SUPPORT 2

40 CA3015L0-S SPINDLE SUPPORT 2

41 74511114 MOTOR 110V/60HZ,T18:1 1
74512214 MOTOR 220V/50HZ,T15:1 1
74512413 MOTOR 240V/50HZ,T15:1 1
745138L3 MOTOR 380V/50HZ,T15:1 1
745140L3 MOTOR 400V/50HZ,T15:1 1

Page 31




SB-EX Side Belt Industrial Case Taper Operation Manual

Vertical Column

Page 32



SB-EX Side Belt Industrial Case Taper Operation Manual

KEY PART NO. DESCRIPTION QTY
NO

1 CA10010A TAPING SET SUPPORT 1
2 CA10110A SUPPORT SET 2
3 10100612 SCREW M6*12L & SW & W 12
4 CA101500 LINING 8
5 CA10040A COVER PLATE 1
6 10140406 SCREW M4*6L 4
7 CA101600 HANDLE KNOB 2
8 CA100900 LOCKING BRACKET 2
9 CA100800 SCREW KNOB 2
10 CA100500 COMPRESSION ROLLER SEAT 2
11 CA101000 SUPPORT BAR 1
12 11301700 RING STW-17 4
13 CA100600 COMPRESSIONROLLER 4
14 CA100700 COMPRESSION ROLLER SHAFT 4
15 10140610 SCREW M6*10L 4
16 CA200900 SPINDLE SUPPORT 2
17 CA200700 HEIGHT ADJUSTMENT SPINDLE 2
18 CA200800 CHAIN WHEEL 2
19 10100612 SCREW M6*12L & SW & W 4
20 CA20040A COVER PLATE 2
21 CA200200 SET PLATE 2
22 CA200300 SET PLATE 2
23 CA20010A COLUMN 2
25 10100612 SCREW M6*12L & SW & W 8
26 10100612 SCREW M6*12L & SW & W 8
27 CA201200 CHAIN PLATE 1
28 3240S356 CHAIN 1
29 CA201100 CHAIN COVER 1
30 10190410 SCREW M4*10L & SW & W 4
31 CA201600 CHAIN WHEEL 1
32 CA201700 CHAIN WHEEL SHAFT 1
33 CT212100 BUSH @10 x @12 x 10L 2

Page 33




SB-EX Side Belt Industrial Case Taper Operation Manual

34 10100635 SCREW M6*35L & S.W & NUT 1
35 CA201500 HANDLE CRANKK ARM 1
36 10170816 SCREW M8*16L & SW & W 1
37 91350001 RUBBER PLUG 2
38 CA100300 B-PLATE 2
39 CA100200 A-PLATE 2
40 30302020 BEARING 620227 2
41 CA304500 BEARING SEAT 2
42 10140616 SCREW M6*16L 4

Page 34




SB-EX Side Belt Industrial Case Taper Operation Manual

Vertical Column (Stainless)

KEY NO PART NO. DESCRIPTION QTY
1 CA10010B-S [TAPING SET SUPPO RT 1
2 CA10110A-S SUPPORT SET 2
3 10100612S SCREW M6*12L & SW & W 12
4 CA101500-S LINING 8
5 CA10040A-S COVER PLATE 1
6 10140406S SCREW M4*6L 4
7 CA101600 HANDLE KNOB 2
8 CA100900-S LOCKING BRACKET 2
9 CA100800-S SCREW KNOB 2
10 CA100500 COMPRESSION ROLLER SEAT 2
11 CA101000-S SUPPORT BAR 1
12 11301700 RING STW-17 4
13 CA100600 COMPRESSION ROLLER 4
14 CA100700-S COMPRESSION ROLLER SHAFT 4
15 10140610S SCREW M6*10L 4
16 CA200900-S SPINDLE SUPPORT 2
17 CA200700-S HEIGHT ADJUSTMENT SPINDLE 2
18 CA2008S0 CHAIN WHEEL 2
19 10100612S SCREW M6*12L & SW & W 4
20 CA20040A-S COVER PLATE 2
21 CA200200-S SET PLATE 2
22 CA200300-S SET PLATE 2
23 CA20010A-S COLUMN 2
25 10100612S SCREW M6*12L & SW & W 8
26 10100612S SCREW M6*12L & SW & W 8
27 CA201200-S CHAIN PLATE 1

Page 35




SB-EX Side Belt Industrial Case Taper Operation Manual

28 3240S356-S CHAIN 1
29 CA201100-S CHAIN COVER 1
30 10190410S SCREW M4*10L & SW & W 4
31 CA201600-S CHAIN WHEEL 1
32 CA201700-S CHAIN WHEEL SHAFT 1
33 CT212100 BUSH @10 x @12 x 10L 2
34 10100635S SCREW M6*35L & S.W & NUT 1
35 CA201500 HANDLE CRANK ARM 1
36 10170816S SCREW M8*16L & SW & W 1
37 91350001 RUBBER PLUG 2
40 30302020-S BEARING 620227 2
41 CA304500 BEARING SEAT 2
42 10140616S SCREW M6*16L 4

Page 36




Machine Body

SB-EX Side Belt Industrial Case Taper Operation Manual

Page 37



SB-EX Side Belt Industrial Case Taper Operation Manual

KEY PART NO. DESCRIPTION QTY
NO

1 CA30010A MACHINE FRAME

2 CA300200 MACHINE LEG 4
3 10100816 SCREW M8*16L & SW & W 16
4 10101016 SCREW M10*16L & SW & W 8
5 CA30040A CLAMP 4
6 CA30030A ADJUSTABLE LEG 4
7 9201L501 CASTER 4
8 CA400100 ROLLER SEAT 2
9 CA30280A ELECTRICAL BOX 1
10 10170510 SCREW M5*10L 4
11 CA304300 ELECTRICAL COVER 1
15 10140612 SCREW M6*12L 2
16 CA101400 FIXED SEAT 1
17 CA400200 ROLLER 14
18 10750001 PIN 26
19 CA302400 ROLLER(LONG) 7
20 CA302300 ROLLER(SHORT) 16
21 CA33070A B-PLATE 2
22 CA33060A A-PLATE 2
23 10100812 SCREW M8*12L & SW & W 8

Page 38




SB-EX Side Belt Industrial Case Taper Operation Manual

Machine Body (Stainless)

KEYNO | PART NO. DESCRIPTION QTY
1 |CA30010A-S  |MACHINE FRAME 1
2 |CA300200-S  |MACHINE LEG 4
3 |10100816S SCREW M8*16L & S.W & W 16
4  |10101016S SCREW M10*16L & S.W & W 8
5  |CA30040A-S  |CLAMP 4
6  |CA30030A-S |ADJUSTABLELEG 4
7 |9201L501-S  |CASTER 4
8  |CA400100-S  |ROLLER SEAT 2
9 |CA30280A-S  |ELECTRICAL BOX 1
10  |10170510S SCREW M5*10L 4
11  |CA304300-S  |ELECTRICAL COVER 1
15  |10140612S SCREW M6*12L 2
16  |CA101400-S  |FIXED SEAT 1
17 |CA400200-S  |ROLLER 14
18  |10750001-S  |PIN 26
19  |CA302400-S  |ROLLER(LONG) 7
20 |CA302300-S  |ROLLER(SHORT) 16
21  |CA33070A-S  |B-PLATE 2
22 |CA33060A-S  |A-PLATE 2
23 [10100812S SCREW M8*12L & S.W & W 8

Page 39




4
SB-EX Side Belt Industrial Case Taper Operation Manual *y

Tape Head (2" or 3" ) — Refer to Tape Head User Guide

Refer to the User Guide provided with the Tape Head for the lllustrated Parts List and part
numbers for Tape Head parts.

Page 40



	Safety
	Introduction
	General System Description
	Specifications
	Options
	Dimensions

	Installation
	CAUTION! The SB-2/3EX Standard Case Taper is very heavy and will require a forklift, floor crane, or several people to move safely off the shipping pallet. Use proper equipment when lifting the case taper and ensure the case taper is secure and will n...
	CAUTION! The case taper must be lifted off the  floor  to  install  the casters. Use proper equipment when lifting or moving the case taper. Ensure the case taper is secure and will not shift while installing the casters or adjusting leg height.
	Location Requirements
	Install Front and Rear Tables
	Next Steps

	Operation
	Loading the Tape Cartridges
	CAUTION! To avoid personnel injury, remove the tape cartridge before loading tape.
	When handling the tape cartridge be careful to avoid contact with the tape cutting blade.
	NOTE: Make sure the  tape roll is  pushed all the way on  the  spindle assembly.

	Check Tension
	Thread Tape
	Eastey-EX Tape Head
	Bottom Cartridge Upper Cartridge

	EZ-EX Tape Head
	Bottom Cartridge Upper Cartridge


	Main Spring
	Power
	CAUTION! When the power is turned on be aware of moving parts and belts

	Control Panel
	Emergency Stop
	Emergency Stop Button (Red)


	Adjustments
	Carton Height and Width Adjustments
	Side Belt Width Adjustment
	Upper Tape Head Height Adjustment
	Top Squeezer Adjustment

	Belt Adjustment
	Machine Body Height Adjustment
	CAUTION! Ensure  the  case  taper  is  secure  and  will  not  shift  while adjusting leg height.


	Maintenance
	Rollers
	Cutting Knives
	CAUTION! Always be aware of the cutting edges while replacing the knife blades. Handle the knife blades carefully.


	Troubleshooting
	Parts List
	Electrical
	Electrical Layout
	Electrical Layout Cont.

	Side Belt Assembly
	Side Belt Assembly (Stainless)
	Vertical Column
	Vertical Column (Stainless)
	Machine Body
	Machine Body (Stainless)


